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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Winter Examination-2015 

 

Subject Name: Electrical Wiring, Estimating and Costing  
 

Subject Code: 2TE05EWC1                                                          Branch: Diploma(Electrical) 

    

Semester: 5            Date: 02/12/2015      Time: 2:30 To5:30        Marks: 70 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: (14)  

  a. As per  ISI the maximum load that can be connected in one sub circuit is 1 

  i) 800 w ii) 1000 w 1600 w iii) 500 w  

  b. As per ISI the maximum number of points can be connected in one sub circuit is 1 

  i) 8 ii) 10 iii) 15 iv) 20  

  c. Cheapest system of internal wiring is 1 

  i) Cleat wiring ii) Casing capping 

wiring 

iii)Batten wiring iv)Conduit wiring  

  d. Which of the following types of wiring is preferred for workshop lighting? 1 

  i) Casing  

      Capping 

ii) Batten iii) Cleat iv) Concealed 

            conduit 

 

 e. The rating of fuse wire is always given in 1 

  i) Volt ii) Ampere iii) Amp-volt iv) Amp-hours  

  f. Lamps in street light are connected in 1 

  i) Series ii) Parallel iii) Series-parallel iii) None  

 g. All  points in domestic wiring are connected in 1 

  i) Series ii) Parallel iii) Series –

Parallel 

iv) None  

 h. Earth wires are made of 1 

  i) Copper ii) Aluminum iii) Iron iv) Galvanized  

     stranded steel 

 

 i. Standard domestic AC supply voltage in India is 1 

  i) 220V ii) 230V iii) 240V iv) None  

 j. Fuses are always connected in 1 

 

  i) Neutral ii) Phase iii) Earth iv) None  
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k. If distance of overhead distribution line is 2km and span is 100m then how much poles needed 1 

  i) 20 ii) 21 iii) 22 iv) 19  

 l. Energy meter, for connection has ----- terminals. 1 

  i) 2 ii) 3 iii) 4 iv) 5  

 m. The insulator used in stay wire is 1 

  i) pin ii) shackle iii) stay iv) ring   

 n. RCC poles usually have span of  1 

  i) 250-400m ii) 80-150m iii) 50-80m iv) 25-50m  

 

Attempt any four questions from Q-2 to Q-8 

 

Q-2  Attempt all questions (14) 

 A Draw and Explain Tube light Wiring 7 

 B State and Compare different type of Domestic Wirings. 7 

    

Q-3  Attempt all questions (14) 

 A State different methods of purchase procedure and explain any one. 7 

 B State and Compare types of Estimitation. 7 

    

Q-4  Attempt all questions (14) 

 A A newly constructed room of size 4m *6m*4m has following electrical out lets. One lamp, one 

fan, two tube lights and one 3 pin socket 5Amp rating. Make Estimitation and costing of 

required materials with specification and also draw wiring layout and wiring diagram. By 

assuming PVC casing capping wiring.  

7 

 B In one workshop of size 40m*15m*4m, one 15hp, 400V three phase, 50Hz induction motor is 

to be installed at 15 m away from supply board. So prepare estimation and costing of required 

materials and draw wiring diagram also. Also assume required data. 

7 

    

Q-5  Attempt all questions (14) 

 A Define Service main and compare different types of service main. 7 

 B Draw neat sketch of three phase over head service connection and prepare list of require 

materials. 
7 

    

Q-6  Attempt all questions (14) 

 A An overhead service connection is to be provided to a single storey building at single phase 

240V, 50Hz. Its maximum load is 10A. The supply is to be given from the overhead 3 phase 4 

wire distribution system which is 30m away from the building. So prepare estimation and 

costing of required materials and draw wiring diagram also.  

7 
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 B One factory having load of 10kw at 240v, 3 phase, 4 wire system of supply. It is to be providing 

with underground service connection. The distance between service pole and factory is 25m. 

Estimate the material required and the total cost of underground service connection.  

7 

Q-7  Attempt all questions (14) 

 A Draw neat sketch of stay set and prepare list of materials. 7 

 B Compare overhead and underground Distribution system. 7 

    

Q-8  Attempt all questions (14) 

 A Prepare Estimitation of material required for 25KVA, 400V, 1km long, 3 phases, 4 wires, and 

50Hz street overhead distribution system. Also draw plan for it. 

7 

 B Prepare Estimitation and costing of material required for underground distribution line 40m 

long 440V, 3 phases to carry a 200W at 0.8 p.f. lag. 

7 
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Q-1  Attempt the following questions: (14)  

  a. ISI મજુફ એક સફ સર્કિટ કેટ્રો ભક્સસભ રોડ જોડી ળકાઈ 1 

  iv) 800 w v) 1000 w vi) 1600 w vii) 500 w  

  b. ISI મજુફ એક સફ સર્કિટ કેટ્રા ભક્સસભ ઩ોઈટ જોડી ળકાઈ 1 

  v) 8 vi) 10 vii) 15 viii) 20  

  c. અંદય ના લામયીગ ની સસ્તી સસસ્ટ્ભ કઈ 1 

  i) ક્સરટ 

લામયીગ 

ii) કેસસંગ કેસ઩ંગ 

લામયીગ 

iii) ફેટન લામયીગ iv) કંન્ડુટ લામયીગ  

  d. સનચે ના ભાથી કય ુલામયીગ લસળો઩ ના રાઈર્ટગ ભાટે મોગ્મ છે? 1 

  v) કેસસંગ કેસ઩ંગ  vi) ફેટન  vii) ક્સરટ viii) ક્સન્સલ્ડ 

કંન્ડુટ 

 

 e. પરજુ ના યેર્ટંગ ળા ભા આ઩લા ભા આલે છે 1 

  i) લોલ્ટ ii) એક્પ઩મય iii) એક્પ઩મય 

લોલ્ટ 

iv) એક્પ઩મય સરાક  

  f. સ્ટ્સ્િટ રાઈટ ના રેપ઩ ના જોડાણ કેલા હોઇ છે 1 

  iv) સસર્યજ v) ઩ેયેરાર vi) સસર્યજ 

઩ેયેરાર 

vii) ઉ઩ય ભાથી કોઈ 

નર્હ 

 

 g. ડોભેસ્ટ્સ્ટક લામયીગ ના ફધાઈ ઩ોઈટ જોડલા ભા આલે છે 1 

  i) સસર્યજ ii) ઩ેયેરાર iii) સસર્યજ ઩ેયેરાર viii) ઉ઩ય ભાથી 
કોઈ નર્હ 

 

 h. અથથ લામય ફનાલા ભા આલે છે 1 

  v) કો઩ય vi) અલસુભનીમભ vii) રોખડં viii) ગેલ્લાનાઈજ 

સ્રડંેડ સ્ટીર 

 

 i. બાયત ભા ડોભેસ્ટ્સ્ટક એ સી સપ્રાઈ ના નક્કિ કયેર લોલ્ટેજ કેટ્રા છે 1 

  v) 220 vi) 230 vii) 240 viii) ઉ઩ય ભાથી 
કોઈ નર્હ 

 

 j. પરજુ ક્યા જોડ્લા ભા આલે છે 1 

  v) ન્યિુર vi) પેજ vii) અથથ viii) ઉ઩ય ભાથી 
કોઇ નર્હ 

 

 k. 2km રાક્પફ ઓલય હડે ર્ડક્કિબસુન રાઈન ભા જો સ્઩ાન 100m હોઇ તો તેભા કેટ્રા ઩ોર ની જરુય ઩ડ ે 1 
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  v) 20 vi) 21 vii) 22 viii) 19  

 l. સનેસળન ભાટે એનેક્કિ ભીટય ભાટે ....... છેડા હોઇ છે 1 

  v) 2 vi) 3 vii) 4 viii) 5  

 m. સ્ટેમ લામય ભા લ઩યાત ુઇંસરેુટોય 1 

  v) સ઩ન vi) ળેકર vii) સ્ટેમ viii) ર્યંગ  

 n. RCC ઩ોર ભા સ્઩ાન કેટ્રો હોઇ છે. 1 

  v) 250-400m vi) 80-150m vii) 50-80m viii) 25-50m  

Attempt any four questions from Q-2 to Q-8 

 

Q-2  Attempt all questions (14) 

 A ટ઱ફુ રાઈટ લામર્યંગ દોયો અને સભજાલો. 7 

 B ડોભેસ્ટ્સ્ટક લામર્યંગ ના પ્રકાય જણાલો અને સયખાલો 7 

    

Q-3  Attempt all questions (14) 

 A ખયીદી ઩ધસત ની યીતો જણાલો અને કોઇ એક સભજાલો 7 

 B અંદાજ ના પ્રકાય જણાલો અને સયખાલો. 7 

    

Q-4  Attempt all questions (14) 

 A એક નલા ફધંામેર 4m *6m*4m ભા઩ના રુભ ભા એક રેપ઩ , એક પેન , ફે ટ઱ફુ રાઈટ અને એક 
5A સોકેટ આઉટ રેટ મકુલાના છે તે ભાટે જરૂયી ભાર સાભાન નો જથ્થો તેના સ્઩ેસસર્પકેળન ળાથે 
ર્કભત નો અંદાજો કયો , લામયીગ રેઆઉટ ફતાલો અને લામયીગ ડામાગ્ર્રાભ દોયો. PVC કેસસંગ 
કેસ઩ંગ લામયીગ ધાયો. 

7 

 B એક 40m*15m*4m ભા઩ ના લસળો઩ ભા 15hp, 400V ત્રણ પેજ 50Hz ની એક પે્રયણ ભોટય 
પ્રસ્થસ઩ત કયલાની છે. સ્પ્રાઈ ફોડથ થી 15 m ન ુઅંતય છે,  તેનો લામયીગ ડામાગ્ર્રાભ દોયો, જરૂયી 
ભાર સાભાન નો જથ્થો અને પ્રસ્થ઩ન ની ર્કભત નો અંદાજો કયો. જરુયત ના ડેટા ધાયી રો. 

7 

    

Q-5  Attempt all questions (14) 

 A સેસલિસ રાઈન ની વ્માખ્મા આ઩ો અને તેના અરગ અરગ પ્રકાય સયખાલો. 7 

 B થ્રી પેજ ઓલય હડે સેસલિસ સનેસળન નો સ્લચ્છ સ્કેચ દોયો અને તેના સાભાન ન ુરીસ્ટ ફનાલો 7 
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Q-6  Attempt all questions (14) 

 A એક ભા઱ ના ભકાન ભા 240V , 10 A પ્રલાહ ની કે઩ેસસટી લાળુ સસલિસ જોડાણ ભકાન થી 30 ભીટય 
દૂય આલેરી 3 પેજ, 4 લામય ,ર્ડક્કિબસુન રાઈન ભાથી આ઩લાન ુછે, તેથી  જરૂયી ભાર સાભાન નો 
જથ્થો અને  ની ર્કભત નો અંદાજો કયો. 

7 

 B એક કાયખાના ભાટે 240V, 10KW ની ,3 પેજ 4 લામય યીત થી અંડય ગ્ર્ાઉન્ડ કેફર થી સસલિસ 
જોડાણ આ઩લાભા આલે છે. સસલિસ ઩ોર અને કાયખાના લચ્ચે 25m અંતય છે. તો તે ભાટે  જરૂયી 
ભાર સાભાન નો જથ્થો અને  ની ર્કભત નો અંદાજો કયો. 

7 

Q-7  Attempt all questions (14) 

 A સ્ટેમ સેટ નો સ્લચ્છ સ્કેચ દોયો અને તેના સાભાન ન ુરીસ્ટ ફનાલો. 7 

 B ઓલય હડે અને અંડય ગ્ર્ાઉન્ડ ર્ડક્કિબસુન સસસ્ટેભ ની ળયખાભણી કયો. 7 

Q-8  Attempt all questions (14) 

 A એક 25 KVA લીજ્બાયલા઱ી 1km  રાપફી 400V, 3 પેજ  4 લામય  50 Hz  ની સીધી ઓલય હડે 
ર્ડક્કિબસુન રાઈન ભાટે પ્રાન દોયો અને જરૂયી ભાર સાભાન નો અંદાજો કયો. 

 7 

 B એક 440V ની અંડય ગ્ર્ાઉન્ડ ર્ડક્કિબસુન સસસ્ટેભ ની રફંાઈ 40m છે, અને તે  3 પેજ 200kW, 0.8 pf  
l ag   નો ઩ાલય લહન કયે છે. તો તે રાઈનની યચના ભાટે જરૂયી ભાર સાભાન નો જથ્થો અને  ની 
ર્કભત નો અંદાજો કયો. 

7 

 

 

 

 

 

 


